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(—) The block brake (Fig.1) is used to stop the wheel from rotating when the wheel is subjected to a
couple moment Mo. If the coefficient static friction between the wheel and the block is
(1) Draw the free-body diagrams.
(2) List the equilibrium equation. (15%)
(3) Determine the smallest force P that should be applied.
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(=) A 500N weight is attached at A to the lever shown in Fig 3 . The constant of the spring BC is
k=1000 N/mm , and the spring is unstretched when 6=0.
(1) Draw the free-body diagrams.
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(2) List the equilibrium equation.
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